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Just as the ‘big’ T°rumoh is taken by estimation

Overview

X913 12 MYOR RaAX teaches that we derive from the 109 (regarding Wwvn nman)
which states' 0anman 0d% awnm, that just as 7273 790 (regular 717N) can be
taken by estimation, so too W¥n NN may also be taken by estimation. NBOIN
elaborates on this rule of 72K nHv°1.

- 25951 99095 NAR NOIN 191NN TIYPY NI NPIINY TUPN NN YIPAY PN 170
However, we cannot compare 2''2n to 3''2n in the sense that if he intends that

one kernel of wheat should exempt the entire silo that it should be effective, and
one need not separate any more YN -

= RN 9N 9VynN NHT

Since the ;790 states wWYn, so one must separate a tenth, and nnX 7vn is insufficient.
- N9 NPYINY 579 1PUPNRT SMNT AN 901 119NN ON 1)

However if he intentionally added and separated more than a tenth for n"2n it is
the view of n1oon that it will be effective, for in this regard we do compare »"n

to 3" -
- 5153122 HYININN TY DIIND RN NPT x,m 91 mmm DS TN MNINN 93 P93 AT

As this is evident in ;773% nX2 nmann Yo pas, where the Xnvma states; ‘one may

separate (fresh) figs as ["wy»] for dried figs, by the number of figs -
- 'NOYD NPT TUIN TN N1 53593 SMAWYNA NaIN NAT 7599

And the X713 asks, ‘but he is adding on his "wy»’, and that Xn»72 is discussing

Yra,m (mp) Ma7ma.

 3"a8X is comparing »"IN to 3"In regarding TMX. One may have mistakenly assumed that included in this
comparison is that just as by 3"7n the rule is that (n"71) >33 NX NWVIB NN 70, the same should apply to n"7n.

? One may have assumed that since the 70 requires MWy, so just as less than Mwwn is insufficient, the same should
apply if he gave more than “wvyn; only a tenth becomes 72170 but not the remainder, M990 negates this argument.
The fact that the 770 calls it 7wyn requires that it not be less than a tenth; the fact that it is compared to 72170 (which
is TR nv1) teaches that the n"1n may be more than a tenth and it is not 2p?pn. However by regular nwia qwyn
(not n"1N) if one separates more than a tenth his wyn is 2p2pn. See footnote # 6 & 8.

* See there 2,71

> If one has ninety n11x173 he may set aside ten 2°IXn as wyn for these N33, Generally %8N are larger than a3,
% Ten 018N are more than ten percent of the total ninety M 373 and ten I8N (since they are larger). If one separates
more than a tenth for wy» there is a problem with the wy» (not with the 1°211). If one has ten pounds of grain and
he separates two pounds for 7w¥n; only one (of the two pounds) is wyn (it is the tenth), but the other pound remains
52y since no wyn was set aside for it, and it cannot be Twyn, for the "wyn is already in the other pound. 2v and
wyn are mixed up in these two pounds, we do not know which is what.

7 The x1n3 there points this out.

1
TosfosInEnglish.com



ows 13"7 '01N X,X? 1ua .7"'02

adding »''an (not 7n17N), as is evident in the X2%0 of that xn>>2 -
= 119512 N2 BN XYNH 12 MYIN NAND XYY 1Y »PI

And in order to answer this question the X713 there establishes the Xws9 (of 72710
TIR2 MAANIAT Y 0°IRkN) according to "TYWR NaR that "N may be taken TRIX2 (so
therefore it does not matter that it is more than a tenth), and there he intends to

increase the n"2n for he is being MIM737 %Y °IXN WY, proving that according to 3"aRX, one
may set aside more than a tenth for n"2n.

mooIn has so far asserted that according to 3"2aXX one may give more than a tenth for »n"7n, and
now nN1901N adds that this applies to regular wyn» as well.
- 81’5‘.751‘.7): PIMIVYN MIVYUYNI N9 RINI) 12 MMYONR NAND YD 19D 19T NINII)

And it is the view of '01n that »''28X does not agree at all to the ruling that
whoever is n1wwn2 739% his MWY» are ruined, but rather even the addition is proper

wyn -
-Tmaaa 9902 1329NTD TIINI Y9V ) [PYNI] 9V¥naT

For even PwR" 2wyn is permitted to be taken by estimation, as the Xn» 12 states

in the end of ny"192 Noon -
= 0IVIVN 1PN 1HNX YV NIVY IN NIYY YV DINYV ANN VY YD

‘I would think if he had one hundred sheep and he took ten for 7n72 Wyn or

he had ten sheep and took one, that they should be considered tithed -
= JUYN 9N NN 2292 20 229 99UY AT PN 10"1’\’))’ 999 Mnvn
The m05 teaches, ‘the tenth’ and this is not the tenth; however ''2°9 maintains
it is a proper wyn’ -
- Y013 12 9N NAND 9207 NN 292 Y09 Y297 NAYOT OND Y9I
And the X712 explains there that the reason of 3''3°9 that it is 7w¥» is because he

agrees with 3'"'aRR (who compares "0 to 3"1n) -
= D199 7NY 11999 TUN YNV 233 YUY NN *D 2950194 71129990 N3N NP VYN

And "2 adds that the 90 refers to "ww» as 72190, for it is written, ‘for the

wyn of the 3''12 which they will separate for '77 as 32190, I have given it to the 2™’ -
- 2155959 ¥r9a 0NN MNINTI )3T TUPNY NNN YN YININ)

¥ See footnote # 6. This is different from what we have assumed in the end of footnote # 3.

a,m.

' The P10 (in 22,12 ['NpINa] XIP™) reads, 73772 WP M7 SPWYT LAWD NOD N29° IWR 99 KXY P2 1WYD 99)

" The X there refers to him a %™ 12 X"X (not X73). 3"2RK said his ruling (that it can be taken 722 concerning
mmn (both 3170 and n"n; however °"2°7 extends this ruling to 7wyn (both [PWXA] 137 "wyn and 7ni2 Wwyn).

2 95,1 (77p) 7272, The 109 calls Mwyn by the name of 7N, so we say just as 31N is 7282 Nov2), the same
applies to [1A7] WX WY,

' The xn*12 there on X, cites the P109 (in 1,2° [7X7] 2°127) of "N @P*NawyR NX) 02020 009y AnY onxay, that the
2109 is discussing two types of M7wyn namely 137 7wyn and 722 wyYn and they are compared to each other.
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And 2 wyn is compared to AT "wyn as the X3 states there in the
beginning of that 295, so >"21 continues -
- %979 ¥ nawnma) 1mmINm YU 11 U An

Just as awyn of grain is taken 72I8% and by 7awnn, etc. so too mma wyn.
- 19MIY BY5 SN XD N9YDA 29057 999N PYUNRT TW¥NI)

And we are discussing P2X9 wwy» as it is written in the end of the o5, ‘I have
given it to the 27> for an inheritance’.

nooIN asks:
- 9TYHN NANS m‘,:vmb “um TPI08N INANI 9NN ON)

And if you will say; but why was in necessary there in m7132 n>o» to establish

»"2>7 like R''N in order to explain why one may take ten percent for 7272 Wyn -
- Tt wunb AN YUY WPRINT NIN 90995 199 1Y NY

The X723 should have only said that 772773 "wyn is compared to a7 wyn, so -
- ®paw nhayn X932 1959X 19 N1HN3 TUPNM G NIUN TN O )3T IW¥N NN

Just as 7''v» is taken one from ten (there is no rule of ‘the tenth’), the same is by

2'"v» (one of ten is wYn) even without passing under the staff (we do not require
‘the tenth’); why was it necessary to compare (NWX?) WvnA to 7217N?!

Mo0IN answers:
= UYN NN NIYYN NN VI NINY 9293 YD 23997 MY YIYNT 91990 W

And one can say; that it seemed to the X773, that according to '3 it is a

proper 2wy» when he took one from ten (not ‘the tenth’) -
=Y HNY 1997 PR NINDNT TWYNNY 79 D291 1195 DMWY DN IPON

Even if the animals are not equal (so he did not take an exact ten percent); the
X773 assumed this, since just as when he brings them into the pen for =“wy»

where presumably it is not usual that all ten are the same and nevertheless it is a
proper w¥n, so presumably when he takes ten percent of the animals (according to °"27) it is not
exactly ten percent -

4 We know that 137 WwYn is taken TMINM since it is compared to 77N, Therefore 7n72 7wyn can also be taken TmINY,
so it certainly does not require that it should be the tenth, but rather he can take one of ten. This 37 2wyn of "2 is
NWRI YN (not n"1n) as MdOIN points out. We see that >"2°7 explicitly maintains that 77WWR2 “wyn can be taken TmIX2,
and the X3 states that 2" follows the view of 2"2XX, who presumably also agrees that all "wyn» (including 1"yn)
can be taken 71X2. See however later in this '01n (the text by) footnote # 23.

15 See (text by) footnote # 12. WK1 Wwyn is given to the ™7 (however »"7N is given to the 0%172).

1 See footnote # 9.

17 See footnote # 13.

' See footnote # 10; the view of the p"n is that 772 wy» must be the tenth cow which passes 2w nan under the
staff.
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- N9 12 YN NIND MIPINY 298 7299

Therefore it was necessary to establish that >"2°7 agrees with 3''28N -
= PT AUYNA 199 MY 12093 791 THN TVIAT NN NI NTYIN NANT IND INT

For if not for XX I may have thought that when taking one from ten it is
necessary that they be equal (so the "wyn is exactly ten percent) as it is by =“wy»

327 where we require ten percent (except for 2"axX); we would have assumed this -
- P19 19993 XY ©939927 32 Y 9N

Even though that by ©%15%» we do not require that they be equal.

MooIn asks:
= 9YyN HM9Na mpmb ’°mmm TPI0NIN INAN TRIND TVYN AN VT 193 YR

And there is a difficulty since we are now saying that >"2>7 (and 2"2XX) permit
taking even "wy» by estimation, why was it necessary for the X773 in nman ndon

to establish (the following case) by "ww» n»yan -
= 199553V DIYWN JY MINPNIY MINI) VY TV NN NIAN YD) %293 9TYIN 29 9INT XD

This which 5'"'289 said, ‘my father would take ten n1v:93 from the »xp» to

separate them as wy» for the ninety fresh figs in the basket; why say that this

means »"Nn -
— Hmrann qwyna nnpy

Let the X723 establish it by regular (17wX1) "wyn?!

Mo0IN answers:
- Zaming Y1053 TUPN 1959NRT 920 NTINY 5293 S0 297 5137 MY U

And one can say; that granted that >''2>9 maintains that even WX "wy» can

be separated TRIN? -

- PN920 70 19 159 91PN NAN NiYT
Perhaps R''R does not agree with this logic; he maintains that only n"n may be
separated TR but not 71"yn —
An alternate answer:

" One may have assumed that when he is taking the “°wy' (the tenth), the way the P10 states then it is does not
matter whether it is exactly ten percent as long as he is the tenth (so the 7wyn is valid even if nmw 2°X), however if
we allow ten percent because we derive it from 337 Ww¥» (so if we do not agree with 3"aRR [that qwyn is 72IRn N9L,
but needs to be exactly ten percent]) we would assume that 7172 7wyn also needs to be exactly ten percent ( 13°v2
nmw) therefore the X n states that °"27 agrees with 2"2XX that 137 2wyn is taken 7K1 (not exactly ten percent)
therefore 12 wyn (which is compared to 137 7wvn) also does not require exactly ten percent (N2 J1°¥2 X?).

097,

! The fact that the X% did not establish it by w1 2wy» but rather by »"n would indicate that only »"9n may be
taken 71IX2 but not 71"v»; in contradiction to what 19010 assumed. See text by footnote # 8.

2 See footnote # 14.

> See footnote # 14. See “Thinking it over’.
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$122999 NP RYII2T DIVN TWYN NN NINPIND DT RNT NI
And additionally the X77) prefers to establish the X072 by "ww» n»yan, since in

the X" of the same Xn>72 he mentions 32910 which refers to 72170 (as in 2"7N) as
opposed to 7"y which (generally) is not called 7m17n.

Summary
According to °"27 all »"17n (including 2"y and 7772 wWyn) may be taken TIRA.

MvoIN is not certain whether 3"aXX would agree with >"27 regarding 7"v7» and 2"vn.
They both agree that if he gave more than a tenth by "9 that it is not 5p?2pn.

Thinking it over
1. mooIn answers> that the reason the X3 did not establish the case of 7 Xax'

21 S, by regular TWwvn is because perhaps 3"aXR does not maintain that regular
wyn can be taken 721871 (only n"7n). However the X713 could have established that
case according to >"21 who certainly maintains that even 7"v» can be taken 72X»
as MpoN clearly™ states?!

2. What will be the rule regarding 1w wvyn and °1¥ wyn can they also be taken
7382 according to 3"axX and *"21?%

# See footnote # 23.
3 See footnote # 14.
2 See R"wAn.
7 See R"wAn.
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